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o U Tq F A fF G F 3T FT-0T § JET T 8 T 97 35 &1
Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o TR T T To JeT-UH YT e [
Candidates must write their Roll Number on the question paper.

o U g7 # FAT 37 § {4 TF GARGT FY T & J97-99 {7 T @& & GO B ITT 54
T F Bl o qar & T8 B AIm
Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) &# g7 oA 8
All questions are compulsory.

(i) 597 #% 1 @ 35 T TGS F97 81 H9H 97 1 G & & [FErger g97 &
gav dfr

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer the questions as per instructions.
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3 : BT T 99% 797 (1-18) 7 @78 9IfF% ITGFT A% giag -

Directions : Select the most appropriate option from those given below each question
(1to 18):

1. &9 TARE a&g & B 1
(A) LT B AR (B) ZoEgiAl &l SAfRreRar
(C) AT &l FHil (D) SIS bl B4l
A positively charged body has in it :
(A) Excess of Neutrons (B) Excess of Electrons
(C) Deficiency of Electrons (D) Deficiency of Protons

2. A IR A 1 & g8 W T IR I w10 diee 31 @i & S dga 8 @l
e B ]
(A) 10 e /%A (B) 500 /M
(C) 1000 & /%M (D) 250 & /%AM

Two plates are at 1 cm a part and potential difference between them is 10 volt.
The Intensity of electric field between the plates is :

(A) 10 Newton/Coulomb (B) 500 Newton/Coulomb
(C) 1000 Newton/Coulomb (D) 250 Newton/Coulomb
3. [Egq o)1 99 (j) T S19ErE A (Vo) § @9 © ¢ 1
(A) j=neVa B) j=1°
Va
.V ) 1
c) j=-2 D) Jj=
ne neVy

The relation between current density (j) and drift velocity (Vq) is :

(A) j= neVa B j=1-
d
.V . 1
Cc) j=-2 D) j=
ne neVy
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4. R W IR I efcad AR & Geet SH T g ANl #X ad &1 IFw T4 Sy

gRT - ]
(A) 2R (B) 4R
(C) 6R (D) 8R

The length of a metallic wire of R ohm resistance is stretched two times its
initial length. Its new resistance is :

(A) 2R (B) 4R
(C) 6R (D) 8R

5. TN ST I HA 8 - 1
(A) A JEA & (B) ®ad JEHE &
(C) [ @ T & Il (D) A &Ef & P Tl
A moving charge produces :
(A) Electric field only (B) Magnetic field only
(C) Both Electric and Magnetic fields (D) None of the fields

6. T ﬂ'ﬁlﬂﬁq El?{—i‘@ﬁ : 1
(A) FEH g W T-gal & Fedl & (B) IAU A1 Rl gat & ke el o
(C) TH-g@l &l F & HT Fehell (D) T=% & AA ¥ FHehl §

Two magnetic lines of forces :

(A) Cut each other at the neutral point

(B) Cut each other near north or south pole
(C) Never cut each other

(D) Cut at the middle of magnet

7. TIHE T W W AR S QU A @ TR i e Foa FET FR § 1
(A) U % & T (B) & & qEdr 9
(C) & & |UE U & ARMe=E | (D) SUUE T W
The magnetic flux threading a wire loop placed in a magnetic field depend
upon :
(A) Area of the loop
(B) Magnitude of the field
(C) Orientation of the loop with respect to the field
(D) All of the above
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8. URT 3gT 4R & e F T B B 1
(A) o & 9 9 (B) WRIMHT & 9% & % H 9
(C) TA-8ad & Frw & (D) URER &% frad &
Direction of Induced Current is given by :
(A) Lenz's Law (B) Fleming's Left Hand Rule
(C) Biot-Savert's Law (D) Ampere's Law
9. q A P &mald 5D o -3D & T § @ ¥, S GYIT BiHE-g Q 1
(A) 50 | (B) -50 &
(C) 25 a4 (D) —25 a4

Two lens of power 5D and -3D are placed in contact. Focal length of the
combination will be :

(A) S50 cm (B) -50 cm
(C) 25cm (D) -25cm
10. e ovg & 69 g F1 S9N & § ? 1
(A) o1 IRE T (B) fereqor
(C) WRrdeH (D) @R
Which phenomena is used in optical fibre ?
(A) Total Internal Reflection (B) Dispersion
(C) Reflection (D) Interference
11. Bl B & foe g feee & 9 @ 1
(A) ST BT > R B (B) UG @I = RS o
(C) SMYaH BT < TR o7 (D) SYUH ¥ | HE el

Condition of minimum deviation for a Prism is :
(A) Angle of Incidence > Angle of Emergence
(B) Angle of Incidence = Angle of Emergence
(C) Angle of Incidence < Angle of Emergence
(D) None of the above
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12. 37 % f&R) 5 | BivEl & auad @ e H qX B a7 9 Besll B pony qee 00 o
(A) STER e © (B) ool &
(C) Heam & (D) AT Yot TS & S &

In Young's double slit experiment, the screen is moved away from the plane of
the slits, angular separation of the Fringes :

(A) remain constant (B) increases
(C) decreases (D) interference pattern disappears
13. 100 V & favaioR ar1 @Ra el saiagie § weffe 3-sifet e ® 1
A) 1.127 A (B) 11.27A
(C) 12.27A (D) 1.227A

de-Broglie wavelength associated with an electron, accelerated through a
potential difference of 100 Volt is :

A) 1.127 A (B) 11.27A
(C) 12.27A (D) 1.227 A

14. Fsifod AfH § IEE T GGG TG B A0 wE & U 1921 F QS &
Alsiel JLEhR & fehar 41 1
(A) T B (B) STEERT &I
(C) B B (D) e H

Awarded the Nobel prize in physics for his contribution to theoretical physics
and the photoelectric effect in 1921 was :

(A) Millikan (B) Einstein
(C) Rutherford (D) Compton
15. U8 o+ I Rl s2WM @& A 999 BRil 8, %edn o ¢ 1
(A) qIIRS (B) HHggI(+h
(C) wHEN S (D) IUUET Tl
All nuclides with same mass number A are called :
(A) Isobars (B) Isotones
(C) Isotopes (D) All of the above
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16. TESSH AN & G| I STae § idg & HA Hol T ~3.4 eV ol Iq Taed

¥ ZAFH P T ot & 1
(A) -3.4 eV (B) 6.8 eV
(C) —6.8 eV (D) 3.4 eV

The total energy of an electron in the first excited state of the hydrogen atom is
about -3.4 eV. Kinetic energy of the electron in this state is :

(A) -3.4eV (B) 6.8 eV
(C) -6.8 eV (D) 3.4eV

17. 9 p-n 9¥ W SRRME 99 FHIHR a1 S 2, 7@ @ ¢ 1
(A) faw@ Ao TomT 2 (B) agqus ae® G B LA HI Al ©
(©) T e B FH AT AT B (D) 4 q s T

When a forward biased is applied to a p-n Junctlon, it :
(A) Raises the potential barrier

(B) Reduces the majority carrier current to zero

(C) Lowers the potential barrier

(D) None of the above

18. T & ol 9ve RE & R @ R, @@ V Gl 99 q9r C e 9vE @ 1

V{ // }C

q qErd ¥
(A) @D (B) STETTH
(C) FHIAWTH (D) ST | § Hlg ol

Energy band of substance shown in the figure, where V is valence band and C
is conduction band :

7

Substance is :
(A) Metal (B) Semiconductor
(C) Insulator (D) None of the above

A3 : (797 19 @ 27) 3ygFT g7 & Rea &l # gid &g -

Direction : (Q. No. 19 to 27) Fill in the blanks with appropriate answer :

19. foEq &9 3@ R & ST R Sl Lo % it B el &l 1

Electric field is in the direction in which the ............... decreases steepest.
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20.

21.

22.

23.

24.

25.

26.

27.

(7) 5628/(Set : B)
AT THH ST Al § I il ol aIgel § I8 TaHM SAEL AEH ..o 211

Conductivity arises from mobile charge carriers. In metals, these mobile
charge carriers are ...............

W%Wgﬁwﬁmﬁ%wwwwm ............ B 2l 1

The value of magnetic field at any point in the open space inside the toroid
IS veveienennen .

SI unit of self-inductance is ..............

.............. W%Wﬁwwﬁﬁmmﬁqawwmwﬁ%ﬁw
B ABR HET 2 1

One common way to generate ............. rays is to bombard a metal target by
high energy electrons.

W T T SR G B % frm wicried 1
Snell experimentally obtained the laws of ............... of light

ERT v B B T & ¥ :
Energy of photon having frequency vis ............... .

............ T eeh s et U 991 e &1 ol 1
In......oooi. , lighter nuclei combine to form a larger nucleus.
Wp—n@%%%%ﬁﬁ@ﬂﬁﬂﬁ@ﬁ%-ﬁﬂﬂﬂm ............ | 1

Two important process occur during the formation of a p-n junction : diffusion
and ................

3% : (797 28 #35)@?@@3%%%@?@9@/%&7#@%

Direction : (Q. No. 28 to 35) Answer the following questions in one word/sentence :

28.

29.

qIgel # Iodel & R W a9 & 67 H 1 THE ISl § 7 1
What is the effect on relaxation time of electrons in metals, with increase in
temperature.

QA A T FHRR-FT S 8| §9% o F §9E 8 7 1

Two unequal resistance are connected in parallel. What is same for them ?
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30.

31.

32.

33.

34.

35.

(8) 5628/(Set : B)
gedl % FeEDd gl T THA BT H A (b Bl © 7 1

What is the value of angle of dip at the Earth's magnetic poles ?

10 & HE-g0 & Ia oF & 20 T G TELT H O [SG-THT G @MW 31 A
% gAY SR ufafdT F@T & ? 1

A point source of light is placed at a distance of 20 cm from a convex lens of
focal length 10 cm. Where should image formed on the other side of lens.

Tl TSN g & TF AIEH (SRS n) § STk Sir o Sfad qen Staafid a<a
% TR F ST T 1

Monochromatic light is refracted from air into a medium of refractive index n.
What is the ratio of the wavelengths of the incident and the refracted waves.

TN M  T9M aes @ & YhI J1 TR Bl S &1 IR a9 ST
RRTH FH P T W B ST HARAY b 8N 7 1

Two light waves of equal amplitude and wavelength are superimposed. What is
the phase difference between the waves so that amplitude of the resultant
wave will be maximum.

EERIS UWAY % g Aiew H gl Bl Ge BEl bl BOAl r, 81 GEQ HET B
fererit 2Rl 2 1

The radius of the first electron-orbit in hydrogen atom of Bohr model is r,.
What will be the radius of the second orbit.

T s H goae @ giEar 8x 1013 AW qur AeX # 5x1012 {7 7 erdaw®
p-CZY BRT 1Al -yl 1

In a semiconductor, the concentration of electrons is 8x10'® cm and that of

012

holes is 5x1 cm-3. Is it a p-type or n-type semiconductor ?
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